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Hundred Years War was fought during 1337-1453
between

(A) Russia-England (B) Russia-France
(C) England-France (D) England-America

The most abundant of all the cells in blood are

(A) Neutrophils (B) Erythrocytes
(C) Thrombocytes (D) Leucocytes
in the sea on the two

Two ships are sailin )
sides Sof Iz)1 li hthouse.g The angle of elev?nc:;:
of the top of the lighthouse 1s ob§erw.fedhcn£3*h‘3
the ships are 30° and 45° res 'cctwelg. -
lighthouse is 100 m high, the distance betwee

the two ships is
(A) 200 m (B) 173 m ;@l&ﬁf
(C) 273 m (D) 300 m E‘%ﬂ

In visual representation of a painting Germania
wears a crown of Oak leaves, as the German

QOak stands for

(A) Rich heritage (B) Diversity

(C) Heroism (D) Patriotism

Four ladies A, B, C and D and Four gentlemen
E, F, G and H are sitting in a circle around
a table facing each other. No two ladies or
gentlemen are sitting side by side. C who
is sitting between G and E is facing D. F is
between D and A and facing G. H is to the
right of B. Who is sitting left of A ?

(A) E (B) H
© G (D) F

Three unbiased coins are tossed. What is the
probability of getting atmost two heads ?

@ I ®) 1
8 4
3

8 = ® 2

3:: power (-)f accommodation of the eye usually
Teases with ageing, This condition is called as

(A) Astigmatism (B) Myopia

©) Hypermetropia (D) Presbyopia

w2

-
S2CFES - §3

1. 1337-1453 & v 100 afa gz N
sfrr go | —
(A) ®g-3te (B) ®9-%id
(©) sts-sta (D) ¥efe-sniftam

2. gggﬁmﬁaﬁﬁmﬁﬁmmwﬁﬂ

7
(A) it (B) ufirarezd
(C) uriaTsed (D) TqFIaTEE

3. 3 TEN U AIeered % 3 sh agR A R W E |
e ¥ AI5eEISE % ¥ @1 Fapa Hior FA
30° 3T 45° & | f: wEzErS 100 Hiet 18,
&t ARt sreTeit 35 after o) gl Frrht 2 7
(A) 2007 (B) 173
(C) 2734t (D) 300 Ht

4. T Tor 3 guioer s feron & ST A TESTSL
¥ wal @ T e geAT T B, STHA IEAT
_ Ffagemrz |
(A) T7< forraa (B)

(C) =t (D)

5. 47fgad A, B, C3R DAt 4 TV E,

F, G 3 H T& gam&R o5 & 9Ri
aﬂt@g\ﬂiaﬁg@w&%%l‘qﬁé

3 wfeen a1 ToW Wry-wY TE A4S © |

C, G 3 E ¥ o= 331 & oI 3uh @ E’@
DHIFREIF,GHRINGE@FH D EVEG
3t A F 9 AT ® | H, B % 3¢ 3
BIARTCARFTSSTR 7

(A) E (B) H
© G (D) F
6. @ R fyenl =t IBTET STAT ®, TR ¥
31feren 3t ¥fid s B9 <t wifResan = B0t ?
@ I @) 1
8 4
@2 (D) 3
8 4

qHTa: Tt § | 98 Tl

FEATI R |

(A) "{ﬁm (B) m@ﬁq

©) ﬁazgﬁ‘aju (D) TR
/ |
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10.

11.

12.

13.

14.

15.

Haryana had only

when it separated from Punjab.
(A) Six (B) Zero
(C) Two (D) One

The name of the customs union formed in 1834
at the initiative of Prussia and joined by most
of the German States is

(A) Zollverein (B) National Assembly

(C) National Guards (D) Estate General

A batsman scored 110 runs which included
3 boundaries and 8 sixes. What percent of his
total score did he make by running between the
wickets ?

(A) 55%

police range/s

6
542%
B

(C) 45% (D) 45%%

Rama ranks 16™ from the top and 15* from the
bottom in a certain examination. How many
students are there in the class ?

(A) 33 (B) 30

(C) 32 (D) 31

The election system in which the candidate who
is ahead of others, who crosses the winning
post first of all, is the winner called in
(A) Dual party system

(B) Plurality system

(C) Indirect democracy

(D) Direct democracy system

Malfunctioning of kidneys can lead to
accumulation of urea in blood, which is called as

(A) Lardosis (B) Uremia

(C) Dialysis (D) Uricomia

The device that can detect the presence of a
current in a circuit is
(A) Diode

(C) Resistor

In which among the cases police can arrest a

person without a warrant ?

(A) When his presence in the court is assured

(B) Any person commits a non-cognizable
offense

(C) Has committed an offense punishable with
imprisonment for a term lesser than 7 years

(D) Has committed an offense punishable with
imprisonment for a term more than 7 years

BT
ik
BV

(B) Voltmeter
(D) Galvanometer

=3

10.

11.

12.

13.

14.

15.

S2CFES -S3
TS| § e B4 9T giEmn § Fad
GEEEDN ]
(A) B8 (B) I
© @ (D) T
g Y YA T 1834 T T A g H
am frad atfiea o7 U= 93
(A) e (B) T wfed
(C) et MEH (D) TR A
& dectarst 110 @ ==man &, foad 3 9 o

g wFs e ¥ | frrdl % < g @ 3
ot A1 o Tt Sifererel T T ® 7

(A) 55% (B) 541;‘1%
(©) 45% @) 45>%  EB
1 [GEHD]

q‘fmﬂmﬁmaﬂmsﬁ&ﬁma’f
A AR @ 15 9t 8, e # g Fred

CIER S

(A) 33 (B) 30

© 32 (D) 31

a8 g et forerd a avanefl <t =i & I

& 2, S T Uge faeE Ug U 8,
oSt Fearal @

(A) Teeefta woredt

(B) 3Teed JUTTeAT

(C) 39T Aehaa

(D) Sea&l Areha JoTTe!
ﬁ%wﬁﬁaﬁaﬁm’maﬂma‘rm
2, T T HEI AR 7

(A) dTSifad (B) Jifwan

(C) sTafefea (D) it
ﬁgﬁﬁﬁ@q&mﬁwﬁgﬂﬁm@ﬁaﬁ
Sire &L Eh

(A) A (B) dieeHiX

(C) wferiers (D) &
%qu@fﬁg%ﬂﬁwﬁmﬁ%m’rﬁmaﬁz%
FRER R GFhcl 8 7

(A) 7 aveTera 3 Sedh Sure g B S §

(B) 1 safa o 1S R T HA &
(C) 79Tet & T Srafel 1 HREH gad A
Sy foran 2
(D) 7@ & arfereh avafur it Frqa IH
T araxy foran @
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16. The International Military-Technical Forum
“ARMY 2021 was inaugurated at
(A) Gurugram, Haryana
(B) Kubinka, Moscow
(C) Ratnaputra, Sabaragamuwa
(D) None of the above

17. Haryana has
(A) 16 (B) 13
© 15 (D) 14

18. The Viceroy who took initiative in creating
elected local government bodies
(A) Lord Harding
(B) Lord Litton
(C) Lord Warren Hastings
(D) Lord Rippon

district jails.

19. The Council of Ministers is r_;,j».;m
collectively responsible to the I
HESTE]

2

21.

22,

23.

X25

(A) Lok Sabha (B) RajyaSabha
(C) Prime Minister (D) None of the above

0. A is the smallest unit of data,
the computer can represent.
(A) Word (B) Bit
(C) Nibble (D) Tables
reacts violently with cold water.
(A) Magnesium (B) Mercury
(C) Calcium (D) Potassium
Section 159 of Code of Criminal Procedure,
1973 (Cr PC) empowers the Magistrate
(A) to order magisterial inquiry
(B) to restrain police investigation
(C) both (A) and (B)
(D) none of the above
The ratio between the length and the breadth of
rectangular park is 3 : 2. If a man cycling along

the boundary of the park at the speed of 12 km/hr
completes one round in 8 minutes, then the area

of the park (in sq. meters) is
(B) 307200
(D) 153600

(£) 15360
(C) 30720

16.

17.

18.

19.

20.

21.

22,

23.

S2CFES - 83

simiea dg-aafieht qa <o 20217 H
(A) eI, B .
(B) Ffa, HeH

(C) 94,
(D) I F & s T

mﬁﬁaﬁﬁ?ﬂ%ﬁ%?
(&) 16 (B) 13
©) 15 (D) 14

Fymfor 1wt I 7

(A) @TE TS

(B) @S fored.

(C) @ anA Bfe™

(D) =ie R

wfirafiae angfee w9 H s wia swert 2 7
(A) ra (B) T, '
(C) werwsAt (D) I # A i 7]
221 6 T8 I = ¢ W

Fl Yaifa R a1 2 |
(A) T3 (B) farz

(O REES] (D) 3=cd
32 T % giy asi & srfirfsear st B
(A) Ay (B) IRI-

(C) hicyag (D) UrRfi”™

=g Ul Gfear, 1973 (dtemdiet) i 4R 19
e i AR A 2

(A) Tfafeaa st & med

(B) gfera it ot T @I o ferg

(©) (A) 37 (B) A

(D) I o @ I e

F SAER T wErs AR

: U3 :2 % | ?Tﬁ T

sfR g # dm F IR AN

12 ot eie <1 1fer & WgRICAT T
%,?ﬁgaqa;aaaﬂwﬁﬁsﬁﬂz
&, s o et (o] e )
fopara 7
(A) 15360
(C) 30720

(B) 307200
(D) 153600
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24,

25.

26.

27.

28,

29.

30.

31

o
32,

33.

The total number of Parliamenlary seats in
Haryana is
% (B) 12

(A) 15
(C) 10 (D) None of the abgve

Cardiac muscle tissue is a contracti]e tissue
present only in
(A) Liver

(C) Pancreas

(B) Heart

(D) Kidney

In a first, India started the cultivation of
Asafoetida

(A) Cold Deserts of Himachal Pradesh
(B) Cold Deserts of Uttarakhand

(C) Cold Deserts of Ladakh

(D) None of the above

The Statq Finger Print Bureay was founded in
Haryana in

(A) 1997 (B) 1972

(C) 1991 (D) 1975

What is the other name for bread mould 2

(A) Yeast (B) Penicillium

(C) Peziza

(D) Rhizopus

The members of USMCA (Which replaced
NAFTA) are

(A) United States-Mexico-Canada
(B) United Kingdom-Mexico-Canada
(C) United States-Mongolia-Canada
(D) None of the above . -

What s the maximum stren gth of the Lok Sabha
envisaged by the Constitution of India ?

(A) 544 (B) 545
(C) 552 (D) None of the above
The State tree of Haryana is

'nzi (A) Ficus Benghalensis (B) Ficus Religiosa

(C) Ficus Racemosa (D) None of the above

In how many different ways can the letters of
the word ‘LEADING’ be arranged in such a
way that the vowels always come together ?
(A) 360 (B) 5040

(C) 720 (D) 480

Who among the following Indian wrestlers has

won the 1501b (68kg) FloWrestling invitational
meet in Austin, Texas ?

(A) Bajrang Punia  (B) Sakshi Malik
(C) Vinesh Phogat (D) None of the above

24.

25.

26.

27,

28.

29,

30.

31.

32,

33.

] s
= h
iy
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5.

T G0 ) e s
(A) o o 3 g 70 U 7

(B) m@'ﬁa'%‘(ﬁran
(C) 3T % 32 Woreyry
(D) I § } 3 7

(A) 1997

(C) 1991

TS W e a7
(A) I

(C) Ui

(B) FATeee Fren - Ada) —amray

(C) HF T SFRHT T

(D) %ﬁﬁaﬁéqﬁ il
W%#ﬁmmmﬁwmﬁmﬁﬁ
(B) 545

1 St He T 2 7
(A) 544
(D) 3T H & S 7

(C) 552

R 7 T g 3
(A) IFhE SRR (B) wresha fehfrata
(C) P e () 370 3 A T 7
153 ‘LEADING'’ & 378701 %t 37e7m - 37er ey

¥ W TN afed fRn s g 3,
ol = e o e @ 7
(A) 360 (B) 5040
(C) 720 (D) 480
Freifitan 3 & i s e 3 s,
Et g 150%%‘3 (68 foret) it st
deafime?
(A) T (B) g iy
(C) fom (D) IR A A FE 7
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34,

B
KR

3s.

36.

37.

18.

2\~

41.

X25

Haryana Roadwa ne .
s ys En
(HREC) is situated at gineering Corporation

(A) Sirsa (B) Gurugram
(C) Panchkula (D) Faridabad
If P is taller than Q but shorter than R, S is

shorter than R but taller than P and T is shorter
than R, then the tallest is
(AT (B) R

©) Q (D) P

are the links to the
pages within your own website.
(A) Text link
(B) External links
(C) Uniform Resource Locator (URL)
(D) Internal links

Which value replaces “?" in the following
figure ?

42 36 38
s()1s 3(1) 10(o)

6 9 19
(A) 1 (B) 4 .
© 3 (D) 2 L
Which of the following cities in the Haryana will
be developed as a Smartest city ?
(A) Gurugram (B) Sirsa
(C) Sonipat (D) None of the above
In a right an[ﬁled triangle, if the length of base

is 8 cm and
hypotenuse is

(A) 10cm
(C) 2cm

(B) 14cm )
(D) 48cm ¢ e
got the title of Shamsul Ulé'rf[f
in 1904 by the then British Govt.
(A) Banabhatta
(B) Balamukund Gupta
(C) Altaf Husain Hali
(D) Surdas
What is the population density of Haryana as
per census, 2011 ?
(A) 855 persons per sq. km
(B) 666 persons per sq. km
(C) 573 persons per sq. km
(D) 733 persons per sq. km

eight is 6 cm, then the length of

... (r-
.irm/‘_/

34.

35.

36.

37.

38.

39.

40.

41.

[GEHD)

B

(A)

-y

. §20FES -S3
820

A

\ |

g&awnﬁzaaga?ﬁuﬁ"mﬁm (TAATH})
ARt | "
: HigEme

(A) fan &
C) vaFa

v 3, S, RATAY
wigp_aém%aﬂw,kﬁaﬁa%,a‘maﬁamg

aft p, QA A R WY R & T
A) T (B) R
STt ot Aaaree & it TRl %
o &1
(B) =TE o
(©) Ffem frerd wrehet (URL)
) R R & <27 % T WCHA-HT AR
B 7
(D w(®)
3 15 3 9 10 20
@ 9 19
©) 3 (D) 2
eferon ¥ Freffas 8 & fra e R T
(B) fawm
©) (D) I0Ed | & HIS T8l
8cm%3ﬂtﬁﬁ_1§6cm%,ﬁiﬁﬂf'€ﬁﬁ.ﬁlﬁ%
(A) 10cm (B) 14cm
FI qeEHT 1904 1 fafew @R gl
I -IA-IAAT I Irfer & 7 |
(B) STeTgFHS
(C) IedT® ga BTei!

2011 F STV o AR AN 7 FTHAEA
THa e !

(B) 666 T feprdt

(C) 573 =afFa wfa =i ferrft

©) Q (D) P
(A) T foreh
(D) Jrafia foreh
42
(A) 1 (B) 4
e et ¥ w9 # ferepfira o st ¢
o TR et i 3 SR o e
(C) 2cm (D) 48 cm
(A) FOE.
(D) &
(A) 855 =afa wfa &l foreft
(D) 733 =afe wid = el

Download from www.MsEducationTv.com



42.

43.

@i
i

44.

45,

46.

47,

Select the correct answer from the choices
given below to continue the series.

DILQTYBG?
(A) ] (B) O
(C) H D) I

19 s related to 361 in the same way 21 is
related to
(A) 400
(C) 441

(B) 324
(D) None of these

Which of the following Agricultural Universities

of Haryana has developed the disease resistant
Pea variety HFP-1428 9

(A) ICAR-National Dairy Research Institute,
Karnal

(B) Chaudhary Charan Singh Haryana
Agricultural University, Hisar

(C) Maharana Pratap Horticultural
University, Karnal

(D) None of the above

Sur Samman Award of Haryana is given in
which field ?
(A) Cinema
(C) Literature

(B) Sports

(D) Agriculture
Sections 39 and 40 of Code of
Criminal Procedure, 1973 (Cr PC)
make it mandatory to give information
regarding commission of certain

offences. Such information can be
given to

(A) local TV channel

(B) alawyer

(C) either to a Magistrate or to a police officer
(D) a police officer only

The positions of the first and second digits in
the number 94 3 1 6 8 7 5 are interchanged.
Similarly, the positions of the third and fourth
digits are interchanged and so on. Which of
the following will be the third to the left of
the seventh digit from the left end after the

rearrangement ?
(A) 4 (B) 1
©€) 6 (D) None of these

g3

42,

43.

44,

4s.

46.

47.

mr@ (A) 4

%‘

Mas
b (© 6

SZCFES*-S:;
A1 S sy
Ah gy | o
(A) ]

(C) H

ﬁwﬁ%

(A) 400
(C) 441

(A) - .
e
(B)%’rﬁmﬁamﬁm |
(C) WM ST e fy
FHETA R

(D) 3T H & Fd 75

BN # g amm :
fearsman | %

(A) et B)
(C) e (D) Fh

% wfskan wifea, 1973 o) £ ara 30
3R 40 % T8 To SvHl F whym Fan &
STHHRI < ATar R | Ve s

& ST ARl R |

(A) T AE T

(B) T

(C) wfwge 71 gfera arfert
WEERRNCEIEE _
TR 94316875 % Te A @ FFH
YT TTE A e e T & | 3 S,
S ot o g e o o e o
e 3 araet i S R | 8 SR T FE
¥ g i B 3 WA 3 9 A
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48.

49,

50.

51.

52.

53.

54,
55,

56.

X25

Choose the correct option for x in the following
sequence.

1:4:9: 16, %

(A) 25 (B) 20

(©) 18 (D) 22

Which type of reproduction seen in Hydra ?
(A) Budding (B) Fission

(C) Regeneration (D) Fragmentation

Select the related word from the given

alternatives.
West : North-East : : South : 7

(A) East (B) North
(C) North-West (D) South-East

The difference between a two digit number
and the number obtained by interchanging the
positions of its digits is 36. What s the difference
between the two digits of that number ?

(A) 3 (B) cannot be determined

<€) 9 (D) 4

HaryanaPohce Academy (HPA)atMadhubanhas
been 1mpa.rtmg training to the IPS Probationers

of Haryana since
(A) 1999 (B) 1966
(C) 1988 (D) 1977

How many9’'s are there in the following number
series, which are immediately preceded by
3 and followed by 6 ?

39693939396363956956939639

(A) 2 (B) 3

(©) 4 (D) None of these
Glycosidic bond is formed by the process of
(A) Annotation (B) Dehydration
(C) Hydration (D) Rehydration
Database entries are called

(A) Form (B) Fields

(C) Records (D) Tables

Each table appears as a i
=l PP spreadsheet grid

(A) Datasheet (B) Queries
(C) Record (D) Tables

-8-

48.

49.

50.

51.

52.

53.

54.

58,

56.
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ﬁnﬁ,ﬁgasj@arﬁx%:ﬁfwﬁﬁmgﬁm
1,4,9,16.x

(A),;zgto = (B) 20

(C) 18 (D) 22

T1gg # HH- _ e o1 W fewar @ 7

(A) HFe (B) fa@sa

(C) GA3TEH (D) G

fou T kel @ Wi w1eG i YMT |
ofeery ; IW-gd ;¢ Jlar 7

(A) (B) St

(C) Ia-ufrem (D) afequr-gd

21 a7t FTell T AT 3R Ik ! F WA
TR & YT TEAT T A 36 7, Al 34 G&1F
2t 3ot % offe o ofex R @ 7

(A) 3 (B) frutfa =&t foran s =
9 D) 4

o 3 aftteeia Sédies =t Hye % eham
ftre TeRTEH! (Tardie) o & WRTET @ 7
(A) 1999 (B) 1966

(C) 1988 (D) 1977

& 13 T e # R 9’ W B fors a3
sifid6R ?
39693939396363956956939639
(A) 2 (R) 3

© 4 (D) 37 & =i el
TEHIfeE at-e R whFm d s e !
(A) TrRRM (B) fisiefa
(C) SrerdtsH (D) i
(A) wid (B) HIcs

(Q feig (D) 3ecH
mm@@aﬁzﬁm%mﬁ

%Rﬁas‘ﬁﬁ% o 'ﬂ%@
:

(A) Szrfte (B) R
(C) T (D) =ed
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60.

61.

62,

63.

There are Six persons A.B.C, D, lf..nml F. ‘(T II\
the sister of F. Bis the brother of E s_hl.:s’hdITl:
Dis the father of A and grandfather of F. Tht!’L
are two fathers, three brothers and a mother in
the group. Who 18 the mother ?

(A) E (B) A
) B (D) D
When bits are grouped together as a
unit, they form a byte.
(A) 8 (B) 5
(€) 6 (D) 4
[_OE_‘[S_ is equal to
log8
(A) : (B) 1
; V8
1
© 5 (D) 1
4

W'hich among lhc fo”owing has a largcl-' " b :'
refractive index ? )0
(A) Diamond

(B) Ice
(C) Ruby

(D) Carbon

A___is a column in a table that
contains a specific piece of information within
arecord.
(A) Field
(C) Reports

(B) Datasheet
(D) Filter

The South range of Haryana Police do not
include which among the following districts ?
(A) Palwal (B) Rewari

(C) Jhajjar (D) Mahendragarh

Pointing to the woman in the picture Rajiv
said, “Her mother has only one grandchild
whose mother is my wife”. How is the woman
in the picture related to Rajiv ?

(B) Sister

(D) Wife

(A) Data inadequate
(C) Cousin

Proteins with catalytic power are named as
(A) Acids (B) Enzymes
(C) Bases (D) Hormones

57.

58.

59.

60.

61.

62.

63.

64.
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67.

68.

69,

70.

71.

72.

X25

He
s E

. a tank in 5 and 6 hrs
rfl:spectwely. Pipe C can ©mpty it in 12 hrs, If
all the three PIPes are opened together, then the
tank will pe filled in

(A) 4-1- hrs (B) 11:_3, hrs
2 17

0532 g 8
()3” s (D) 31] hrs

Punjab Police Rules were framed jn
(A) 1966

(B) 1934
(C) 1954

(D) 1944

An electric iron of resistance 20 Q takes a
current of 5 A, The heat developed in 30 s is
(A) 0.4 x 10) (B) 3.5x10%]

(©) 1.5%x10%]

(D) 2.4%x10*]
The First Co

~omputer Center of
Haryana Police i

came into existence
in the year 1979 at

(A) C andigarh (B) G
©) )

urugram
Faridabad (D

arnal
Six friends P, Q. R,S, Tand
cluband play a different
Tennis, Basketball, B

U are members of a
game of Football, Cricket,
adminton and Volleyball,
T who is taller than P and S plays Tennis. The
tallest among them plays Basketball. The shortest
among them plays Volley

ball.Qand S neither play
Volleyball nor Basketball. R plays Volleyball, T is

between Q who plays Football and P ip order of
height. Who among them plays Basketbal] ?
(A) U

B) s
©.Q (D) R
is an entire databage list of
information,
(A) Fields (B) Form
(C) Table (D) Records

h
2 O’clock in the afternoon ? : Shows
(A) 180° (B) 144
(C) 168° (D) 150°
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T fom-aftm ey
mmmﬁmﬁﬁ Tﬁ@ 3R e ey
FRATETE ?

(A) 3 (B) 1
(©) 4 ki

T T AT 5 A6 W oy
%‘%mqj@ 12 52 & @refl o W 3 |
R T g U WY we e S, @ ey
W WA 8§ e wwa @ 7

(&) 42 R
9 o 3@
Yo IR o e e T ) 7

BFE
B
(A) 1966 (B) 1934
(C) 1954 (D) 1944

2onwﬁ1ausﬁrqaﬁﬁgagahﬁsmﬁrﬁm%|
30 &% ¥ frerfia wom 2
(A) 0.4 x10%)

(B) 3.5%x10%)
(© 1.5x10%]

(D) 24x10*]

A) U ®?

©Q D) R
mﬁmﬁwwm@al
(©) D) fie
‘*‘“W‘@ﬁm%m%l ¥omd
Wﬁ@?%%ﬁﬁﬁﬁiﬁﬁmwﬁﬂ
(A) 180° -

(©) 168° ((g; :‘;’ga
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16

;

cultural Ministry of India recently
d a Memorandum of Understanding

has signe )
h which of the following tech. giants

(MOU) wit
for pilot project in 100 villages of six states

(o promote digital agriculture ?
(A) Google

(B) Microsoft

©) Facebook

(D) None of the above

pe ABF

complete operating system that works on
2 desktop computer, notebook computer or a
mobile computing device is called

operating system.
(A) Real time
(C) Stand-alone

(B) Server
(D) Mobile

Study the following arrangement of digits,
letters and symbols and answer the question
given below.
F14KB59#DR2#7MG%H
VT38*1JA

If all the symbols are dropped from the above
arrangement, which of the following will be
the third to the left of the seventh letter/number
from the right ?
(A) M

(ORY

Tolocate a web page using a browser, you need
in the browser’s address

(B) G
(D) R

to type its
or location bar.

(A) External link

(B) Hyperlink

(C) Internal link

(D) Uniform Resource Locator (URL)

™ The decomposition of vegetable matter into

compost is an example for
(A) Replacement reaction
(B) Redox reaction

(C) Endothermic reaction

(D) Exothermic reaction

.11-
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74,

75.

76.

77.
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SITeTt BN A TG 3 % o e 5 90
wﬁwa‘iﬁmmmmﬁﬁ@
%“m‘ﬁ'“;’ % fom Frefie & 2 frm
g # 7 T TR I e
(A) T

(B) TEHIEIT

(C) HHTF

(D) I i & g el

Th fi?faﬁtftﬁn fireen <t & iy Fm,
Fireqh R 1 T Wil Fn I W Hm
FE A Rren weem |
(A) Fae ergm (B) Tt

(C) V-3t (D) et

3, el ol Fordt % fPefofea sen &
a7eqeA Shifere 3R AR T e v @ S R |
F14KB59#DR2#7TMG%HVT38*

1JA
7R s =ae @ wft fE # @
ST, gTd @ HTAE HeR/3 F A d dew
feferfaa o @ € ?

(A) M B) G

(C) D (D) R
ﬁsﬁmm_maﬂ%ﬁﬁawmwﬁ
%%rqamﬂﬁm%uﬁam?ﬁ%mmﬁ
IEH 2129 T B |

(A) el foreh

(C) it o

(D) gfend e sfehet (URL)

e g a1 v & fed
TFFEIE |

(A) e ffsean

(B) e arfirfsar

mgm (©) TR SR

i3 (D) 3

arffsean
X25
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o B 39 20 A1 #
78. Acandoawork in 15 days and B in 78. ATH W;‘g ésfi%ﬁa?afﬁ 1y 39 & H
20 days. If they work on it together m%ﬁl’l 1 1 FeRaAT ST 9y @ S ?
for 4 days, then the fraction of the w1 &,
work that is left is B (B) i
8 (A) 4
A — ®) 1 15
: : ®
1 =
© L (D) % © = :é g
10 ; Ferfi A E ¥
79. Three positions of a die are given below. 79. T 8 R A = =
5 3 5 2 . 5 4
3 5 5 % 6 4 , 2
6 4 g
N ] i " 5 a; % ?
Which number is opposite to 5 ? -t gE i Lae (C) 1P
B (A) 4 (
:i'?\jﬁ;ggj (A) 4 (B) 2 C) 3 (D) 1
EYEE (C) 3 (D) 1 ( W
80. The is a special dialog box consisting || VO, . |§I§| 7 ame
of all the fields in table. ot Fics M & | .
A) fnié (B) S FH
(A) Records (B) Data form (A) D) Sy
(C) Fields (D) Tables (C) $Ie e
81. Choose the one pair which does not belong to 81. fumy Q‘Tﬁ.ﬁ@ s E‘qfﬁ ﬂef e ik
the group. IEER
(A) 22:46 (B) 1:4 (A) 22:46 (B) 1:4
(C) 10:24 (D) 8:18 (C) 10:24 (D) 8:18
82, E-Shram portal is a National database of 82. é-am fﬁ'éﬁ ____‘EETQEF '{'I'Efm TEE R |
(A) Women workers (A) HI%FI.I Eﬁlﬁaﬁﬂiaﬁ_
(B) Divyang workers (B) ﬁ'O'EIT'T mnfﬁﬁaﬁ
(C) Unorganised workers (©) GWT%HW .
(D) None of the above (D) 3T | § s el
83. The Agricultural produce in Haryana is being 83. Wﬁﬁzﬁﬁmaﬁ%&%m%ﬁuﬁam
{5 Blaryans, Agtibiilital B e Mameh W@
ana Agricultural Produce Mar
: Act, 1971 © i (A) BT Y3 s Afufm, 1971
(B) Rlé!tlﬂ%i%BAlgr.lcu.Itural Produce Markets B) e T S, 1981
©) Rtélt"l;l:i% gmlgncultural Produce Markets ORI ﬁ IS SR Eﬁfﬁﬁ‘qq, 1961
(D) None of the above (D) 390 # | S 7L
84. Choose the missing term. 84. |« Uq gﬁrq |
&!’)" GDI(:IT' FE' T BA’ DCI FE.! PR L
(B) HG (A) GH (B) HG
(C) IH (D) None of these (C) IH (D) 3=S q 1S el
85. 24 carat gold is alloyed with either 85. 24 (T H Tl HIR T o ferqara _
or copper to make it hard which can be used to T dis o a1y b ST 2 = EClC
make ornaments. i ST
, ERIS RIS k:C s ST
(A) Lcad (B) Silver —— -Eﬁ-HT ﬁ
(C) Zinc (D) Tin ””’ﬁrl S (B)
aikg (© T (D) fe1
X25 -12-
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90.

91.

9.

93,

9%,

hand of a clock

inute aclock .
o ards which direction

3:30 P Aot Tow

t ds ! ; 5
Aoints g will point &L B
i hSm,m-Wesl (D) None of these

(A) h : ’
© ot cople speak Hindi, 20 spca}l\
in “-gmug’ 10 speak both Hindi and Tamil,

Tamlln;:;.ber of people who speak Hindi or

hen 1!

™) (B) 70

(‘é) 60 (D) None of these

w});ichof the following s example forunisexual
?

e (B) Papaya

A) Sunflower

(C) Musta]‘d (D) HibiSCUS

eters of wire is d rupees, then

fxm !

]“f,ﬁgfiicateocosl of y meters of wire at the same
rate 7 :

¥

== B) Tyd
A< x (B) Xy

s D) T xd
(o Jr (D)

How many women Hockey players from Haryana
nave represented India in Tokyo Olympics 2020
Hockey tournament ?

(A) 12 (B) 9

(C) 6 (D) None of the above

Complete the following analogy.

Shoes : Leather : : Rubber : ?

(A) Chappal (B) Plastic

(C) Latex (D) Polythene

Due to which scheme, Haryana has become
the first State in India to implement the use of
injectable contraceptives as a family planning
measure ?

(A) Gramodaya

(B) Salamati Scheme

(C) Antyodaya Aahar Yojna

(D) Operation Muskan

Malaria is caused by
(A) Entamoeba (B) Plasmodium
(C) Trypanosoma (D) Paramoecium

HE{I“yanz.i cabinet has approved implementation

of Regional Rapid Transport System (RRTS)”

Corridor between

A -

((C§ iﬂa:ﬂlan —Gurugram (B) Delhi — Panipat
tsar—Gurugram (D) None of the above

=13-

86.

87.

88.

89.

90.

91.

92.

93.

94,
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TG 3:30 T T 9} Y fire £ 3
11?{9:0061%@3&1@;@%% p t
(A) gfeyor-ufrem (B) Y@ :

(C) e (D) T & w7
Th 7 50 @ & A 8, 2090
@gﬁ% 3t 10 &t s afirers ©
2 e &, A3 A shi we St
it 71 At sied @
(A) 80 ®B) 70_
(C) 60 (D) $T & I3 &
Frferfiae & @ -1 THfert T4
IR !
(A) (B) qdtar
© (D)
aﬁxrﬁaaﬂmn@dmﬁ,a’rwaa
ymamﬁrqﬁl'mm?

d
(A) X ‘y; (B) T yd
©)x 1(dl (D) T xd
efemon i frdHl ufeen g Raenfedt A
Sril STl 2020 3 g gAtHe A I
shafiftra g ?
(A) 12 ®9
(©) 6 (D) 3I90 & @ FIg T8I
freferftga awedar g i | opAD
SR L EIRRC Y ;2%3%’
(A) ITd (B) WAIEH
(C) @ieTH (D) e
firg dorT ¥ T, g o aiEr e
T 35 3 37 8] g e 6 S
SR ) STl A S g Ted o T 7
(A) TTHEE
(B) T AT
(C) ST SR AT
(D) ATRIA T&hTT
ué‘f(ujﬁmé;aﬁm'@m%?
(A) Gersriar (B) TIHINET,
(C) gd7iamr. (D) il
giemon Hfeme 3 F o= “af
Wqﬁﬁiﬁq@(m&uﬁ@)”ﬁmﬁ

FRtT H A A e
(A) TSR - TI™ (B) feeett — g
(C) 7T — T (D) IR A B g Tl

X25
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Which of the following Amendment Acts
m.sz'arted th_e “Fundamental Duties of the
Citizens” in the Indian Constitution ? |

(A) 42" Amendment Act
(B) 32 Amendment Act o
(C) 62" Amendment Act

(D) None of the above

Which of the following statements hold true
for the Magistrate’s power to send an accused
to remand under Section 167 of the Code of
Criminal Procedure, 1973 ?

(A) If the investigation is not completed
within maximum period of 90 days the
accused have to be released

(B) If the investigation is not completed within
60 days he has to be released on bail

(C) The maximum period of remand in
judicial custody cannot exceed 15 days,
after that only sending to police custody
is possible

(D) The maximum period of remand in police
custody cannot exceed 15 days, after that
only sending to judicial custody is possible

P,Q,R,S, T,UandV are sitting on a bench
in a park and all are facing East. R is on the
immediate right of S. Q is at an extreme end
and has T as his neighbour. V is between T and
U. S is sitting third from the South end. Which
of the following pairs of people are sitting at
the extreme ends ?

(A) UQ (B) PQ

(©) RQ (D) PT

Who among the following is known as Kalidas
of Haryana ?

(A) Pandit Bhatru Qutbi

(B) Deepchand Bahman

(C) Swami Hardev

(D) Kishan Lal Bhaat

‘Si\';ltl)g z:'s?t}'w: ex-officio Chairman of the Rajya
(A) The Vice President (B) The President
(C) The Prime Minister (D) None of the above
?f P is a brother of Q, M is a sister of Q and T
is a brother of P, then how Q is related to T ?
(A) Datainsufficient (B) Brother

(C) Sister (D) Brother or sister

95.

96.

97.

98.

99.

100.

4
S2CFES -S3
ﬁq%ﬁaaﬁ%?ﬂrﬁsﬁmaqﬁﬁmmm
dﬁmﬁ'qmﬁﬁ%uﬂ%mmﬁ"m’mﬁa
o 7
(A 4oat weivem A
(B) 3oat e AT
(©) 62a?mfm=f31f€1ﬁﬂ'q
(D)mﬂaﬂﬁﬁaﬁéﬂé’f I
= i afed, 1973 Y ¥ 167 < ded
! frte T A i ARTE A I
%qﬁm%%ﬁﬁaﬁﬁ-quﬁ%? .
(A)uﬁgoﬁﬁzﬁaﬁ:ﬁqmﬁx%aﬂmm
Eﬂéﬁﬁﬁ%,ﬁﬁaﬁﬁam
(B) 60%%%%#{'6@?@ Ex
qr 38 ST 9 RET R Eﬁ
(©) e ferea @ foie L
arf‘m:raqafinsﬁﬁ%aﬁsﬁ
261 B gehd] 2, 39 a8
frrrga | ST STAT {9
() gfera feerem # s A afafy
Is i & a7feres T8 & Wl §, I AR
& =aiferes feera § WS ST 69l @
P,Q.R.S,T,UaﬂTV@qﬁ;ﬁQﬁEﬁﬁqﬂ%%aﬂt
wmg@qﬁﬁwﬁaﬁt% IR, SHIHAMR|
Q@aﬁﬁt&\tm%aﬂti‘m%’@%i
v, TR U 3 = & | S 3fon 3R & et wm
R e 2 | B @ e safadl g A
AR AT & ?
(A) UQ (B) PQ
(C) RQ (D) PT
ﬁmﬁff@aﬁ%ﬁﬁaﬁmmsﬁrmsﬂamﬂ%{%?
(A) Ufea waE Fesit
(B) dU=g SiEHA
(C) @ &ed
(D) form wret e
TRFANT T G FHTYFd =i T @ ?
(A) It (B) Trfa
(C) ST (D) SR & § FE T
?‘-Tﬁ'P,Qa,-[qﬁ%’ M, Q &l sed B 3R T, PH |

WER, W Q, T fohd R Faiftra @ 7
(A) 3Tfhe JqTTg g (B) WS
(C) & (D) TS &1 &
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